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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(i) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. TouoE o 39 % 1 T FATS S SUHRRIS 1 BH o IcATGT hl YT o 8
grafRa 2 |
Name the marketing function which is concerned with informing the

customers about the firm’s products.

2. Ufeem w@ Al SRR gar Sem-Tesem &, 3 o1 e e fafies’
FHETHT TG o o6 T Uk e, M feseR sf@en 9 Fid 318 41 |
3 Tofg fren fF 3 f9 0w e =@ aon s U SeE
oSt wxem 1 wormr aie o foTu it shegrati o1 SAISH ST | Fifa
T & TTT 3614 918 & 9 19U ad foRe W o | 3R g et
37 ferenfdfat ot Ae@ st wfafaftat yem e § gar o | 78 Quiey 8 STd
T Toh 3o aET FATE 1 T A1 81 @ Toh o WIS hl & ol
Ut ITINT L QT I ISRt A Tied & TR § R @ 9 |
‘SyHe grgae fafiee’ & waa & qeEn o yiA aur ww eft fiicw ygae
fafiee’ & 9m & s fifén qon Remd w1 Seu 9o ® o | ufee A
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T & TFreh TR TR IE weara W foh srem-ste fafm foe fomm

T TieTe T BIeishidt 7 @die fSeeht T a1 o g foram e |

T 399 HEHd Bl T |

heTe Tgae fafiee’ 1 womh IS STawrehdTai sl YW i aTel e

! TgET | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not
sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them

without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’

3. foxdem fofai 0 9 foreft e Fofa g T werer A witawaf=n s st
AR T FTGATRIar Jrferd gt ® | i o1 AW 9dTd U 36eR 3o
e | 1

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.
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4. ‘TS W FEM 6 URAT 2 | T FKYT W YIH  TIHAT W68 ok 3 A
Jeei@ IS |

‘Management is the process of getting things done.’ State the meaning

of the term ‘process’ used in this statement.

5. TS A U THT gHMFER A T 1 U Yehe Wlier a9 ur foh 35k oee
T fou U 79¥e WY &9 9 AL U S Gehd o | 394 3Heh! R St §
1 | T fofad gmTEm=AT 9Sid g T 5 I8 Seor@ foRa ok 3 a7 ffeea
1 Toh TSR & forem™ Yorel i 3a1 Tor e o Sieg & gared oeal &
1Y TSR | AT Yohe 3T4 A 13T ST |
T+ TS 3R SRR 1 TART foRal 39T Sech@ hIfSTT |

Manuj bought a packet of chips from a local shopkeeper and found that

the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

6. 3T ‘GISHIHS @™ o ITH SIATSC, ST AT -3Tfh & ST 3hi FHIEAHIIAA hl
ECEICGIE

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

7. SRR 3T=dT01 o Teh dcd o ®Y U ‘SATeldg! shi A9 91T |

Give the meaning of ‘accountability’ as an element of delegation.

8. ‘HricHs BREARM § Triereh’ T e 1 e It |

State the role of ‘inspector’ in ‘functional foremanship.’
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9. ‘TIR TewuTse fafiee’ o fouue steger- STy, 3T Yeeueh - T a9
e GHIEH Y-8 -SalTd 3 -t Sie o1 ot foran |
FIO % G wRER Yo J AHd 99199 Y9 SAlfd sl A 3
398 gy foram o 9% WiTe Bie @ Ugdt @ielt el &l WX | I8 giod
BT M o Goal e o STl SAefiee FHN TTh! dfed agd & ard
forvaaia © | afe weTgea 38 S R T St 9 at sirevas
Tt | YT HRESRN Te-eeh $Hoh Tl TEHd & 731 | HHR TR ufed 7 iy
fereed’ @ grueh foram forgia “OaR Teturess fafiee’ & foru fomum sreaey
o UG 1 T o | o ot o ToTq Toh STk Seameit sht 9l # 9het g |
WA & h U8 ol Faiad U 3ucrsy AT ITefAras ot Sia-ut@ sl W
o T |
(1) I Tk 9&1 ol WA o ToTT BAR Tretmseist fIfiee’ 1T Wk et o

Hidl o T T3y |

(%) IUITh Y& T 9t o Teieh HId o Teh—Teh 19 1 Seeid ot Hifsrg | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,
the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to
leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters’ who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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10. i 9T 980 T Sk ok SHEA A | T ST AT AT H @I AT |
ST 5gd G & FiTeh o AT €9 & AT T A L & o | 3T
39T 1 SR qod off Fafia €9 @ ag wroan | % 9 d% @ sAfemem
T 1 HYON L ATAT o1 | §91 180 S 9 Toh 36 =90 § 01 o
3T 1 Yool T | Sk 1 Uk fe8T B & A1d 3¢ sih o 379 @lEH &
AT FE o1 | IR T T ot fir gefit it Femn iR 39 o9 dF %
3N T 5 IS T Taf=iisa o o fote e, ang & 38 gSira oy 1 ot
rIaT forar |
STIMIET 3TN T oI 40% ¢ T IR G o 3790 1 IR Jed T 7
FUS T AT | 3 2 FUS I H A GAT | I 1 IS €0 T 480 1 &
fau ofit 1 e ¥ @9 wa for | st wfasifa wa fafemm o (@) g
GiTH Tl § ISdTS Ud HAted S o 918 39 A THaar 1 Gara g |
Taft 7 TSR AT T 9RY S[ATAT SR |
ST AT=8 ¥ IRl ohl 3gd i gC Feft g0 feanfaa foret a1 shnalt ot
TETHT T& 3T Ieci@ HIfSTT |

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was

earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to
buy shares of the bank. He called one of his rich friends Sudhir and
asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of X 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On

regular inspection and by conducting enquiries of the brokers involved,
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11.

12.

Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two
functions that were performed by SEBI in the above case.

U T o fole T-Taprl Tl 10 v fopw S ot feredl o=
T Rl ST hIFTT |

State any three functions performed by non-governmental organisations

for consumer protection.

oft yy9g st “Toreniten TretTgSIe o Tt ¥ SR foafier geRr o foregpe SN
1 FTHE FL TR © | WA H Fgd & Gl o1 3R A& e T2l & @
| 304 N TF T9d, e rfi-andt ol wrsiu. o B 7, @ 3o
FHHT G % foTT el |

Jad H ur foh 3T # ot wehR ok fof T o SfireRr 3 Tt o a9 |
3ae fidT ST et § fovamg 92 W 9 | 3 uRnmeesy e e
AT THT Th-gE o HoIN ol TUHE &9 H & T 9Td o | $9h HRUT
FHAT G 81 o TAT AL h1 TIH T8 81 91T ol |

(31) wH foredl &1 Trgmor amenedi il ugee it e wrur foeRhe

TETITSSIST 379 A&A] oh! ITH Tl o a1 T ot |

(9) IR (3F) 9T § Y89 T YAk o197 o bR hl Teh ST ST

oot hHifSTg|

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on
the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.
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13.

14.

Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

IS o W o fohedl i foeg 3Tl ol AHETST |

Explain any three points of importance of planning.

‘T fafiee’ 15 et o & § @ oft | e 7g 3 W a
A a1 AU TTEehl o S 94 % fore fafire st it ann a9 | e
1 i o STAR a1 TATE STeTS §R AT FHAAT 9T, Selfeh 3Geh! S0 TSH /1A
ST I Tt off | SH 7 haet i qHT T o fug wfi-shedt Fm
e & bl Tehel i AT A o foTT AefeR BT U o |

ok TNUTTHETEY, 3T GISTcHe: 31 shl ITTH o foTq 39 YohR & &
e T UTd I ST 3T Ffesd o | IO %k G wRERT SRRY S 5ah
R § UA1 = | 38 I AT I AR, 39 fowd § 3qeh @i == ot qen
FHrqt Y A fifa aea €| T Tl foren mn fo afosy & G afed adf
T T 91 AT ] TR ATAT o T8I AT TGHANT AT o |1 ATeohi
%I & S el TR == H G | SR FhRIcHS TH1E T8T 3R 3 o
TS TG | I AT S Ffesd aiieh o 1 hiAT TET L e |

&I HESN ATTHRT S T T4 o 1 o dcdl i [Sarsti &1 3g@
HINT |
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‘Alfa Ltd.” was dealing in renewable energy. To get the business, the
team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members
to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by
the CEO.

15. UH ®FOH S Qi I 1 faauE @ ooft, St gEeh! U 3R
Tesh! 1 JaM 1 ST aTcl] foishd 390 FaTedi & R 5gd T4s o |
FH TSR H Th SO T off TR STfie v il R @ et |
ST AT o RN HET  Torgha-3I0wa Haeti W &4 o1 &g L faa |
Tk TNUTTHEIEY TTEeh! o |12 hFTHT o Hag @e B 7T qT ST hl TSR
H Hrot il B T B | SAuH AWTEeh] o T STcfee H gH W 3o
Yo 6o R § Tafad got | forweioor R arg yar = fo fasmae S
] I | TS [T USRI HROT AT | 37d: KA1 I ST shl 99/ | 791
IIRA B9l THHT FH  TI HH IR HH o fow @t g9a 30w
JTUATT, | $Hh TTOTHEEEY TS 31 gf8 § ot sht TTf Fer 7T |
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(37) I afvta feafa § fomumerat g/ ot ot Sfd 1 gam & foe g
T % FIEE BT AT ST 5 SHRT 3@ HIFIT |

(9) 9T () H qg=™ T ETEH s fien off auense |
A company was marketing ‘water purifiers’ which were very popular
due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.
(a) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

16. Sl g BT & H Wi ol WA g § Nt ¥ Iearied aied A, S
for Mfa foremera =1 fogm w1 weh fomneff R, 4w d o11% e @ =
forem | fTEeh 310 98 F2-Fe) ¥ I S99 1 3TN F dTeft BRI T
ST ST TG 3T foshTe T | 36 Uk Vet & o ot forerm feram qen
34 T fagemer gr0 smnfo fogmm et ® efdfa fora | 39 s1ggem & o
3 YW ERR ¥ GETHa foRam T |
39Uk fearfa 0 =f<ia samadTiies gafawer & TR o1 Ye=ii-] Us gHeEsT |

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
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from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

17. e fafies’ 4 e & & fUeg &7 o, S| #1 % 95 w0 T
3uctsy o, Tar fmfor it ush %t wenfua w1 fola o | 3@ a9 &
At A W fafes’ & 30 T 1 @ foRan | Bt O T Sl R F
fou sreRfia o o foTe oot 3 38 ot faofa o for Shadt ofeer o w&a,
FTEIATS, TSR ST ST 5gd & Gloremd off Iucrse s e |
e fafiee’ = sTcafie ey AT e T o e | T o i
HEHT T I IATE Yook 318 bl wial fafiee’ g sl fere
T8 STCITEI ATH o HIRUN T TdT I o foT o |
FTH 3 U T ST & hEdR § EeATcHe: 3231 shl WTTH ok forq fafsrer
fopamatt & <fie cHafeyd T 2 | Ieish = 1 I8 914 § & a0 foras
Tfd IR Td SaTeeg 2 | shad 3Ta 341 @ foh 39k Tred § griwo 9igH
STEE o HIEIH | T BT 8 | Selfeh Wial fAAfies’ FRiNvT ohi STTavehdigaR
ooft femedl # yarfed g 1 1gAfa YoM Wt 8, fooe gemamet & iy
TETE BT 2 3T I off i e e S g |
(37) WS % I YR ! YT St gr3wor skt qeft fawmsni & yarfea & i

e fafiee’ = sgufa e A R |
(F) W (37) T IE=H T TS o TohR oh Th 17 ATH 1 3G i |
(|) TH 3 Al 1 3Ig@ I S L e’ aus i qeiivd e
AR 2 | 4
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‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the
backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other
facilities like school, hospital, market etc. in the factory premises.
‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of
earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.” the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)

above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to
the society.

18. W = forgaT 1 THETST it Yoy & fgr=dt sht Jehfd T JehTeT ST € |

Explain any four points that highlight the nature of principles of

management.

19. wfHe SR 8§ 73 gt el 6 ol =m fafert o1 sgm hifsm |

State any four methods of floatation of new issues in the primary

market.
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20. 70T TG Il Tk TgUER A0 H HRid | fUse il i @ 38 gEn
o | T8 35k Th ohl SIT= ol 75 a1 TaT AT foh 38 7] 7 3R 36k wicee hi
Tt oft Srga hH 21 S ® | T 3 STEAATA H el AT T T SRl A
3Gl Th TQH hl TATE <1 | 39k Teh @reft 9 3ueh Tfeehrl “oft IrEor i
3okl Uk Terfiad g €| ‘o AR 3 qid € wed % gt st w5
3T o TTT TH-3M & 31 AT FAd §¢ T TaaRad =1 &1 | 59 &
Telrgeh ohl 38 TS | TaT IAT @1 IUH RO THET R TS TR a
STTIUTE 3 & <hl TEHTE 1 AT e |

(37) ST I8 ¥ 3Igd Fd TC MU= TF =G T §
Traf-ad ufr ot 3ha iR |

(9) ST Trymo i foRegl &t forsraret &1 oot il |

(|) IRk itfeafa o aure 1 aeafya fore S aret foreel a1 geant <t ue=m
I | 5

Arun i1s working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.
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21. 31 99 qd 7Y 3 Qe AEnfeh #§ o feift it 3 | e T TH ae =,
IR & L&A S Tt Teh SheuH1 | hid FoRaT | 98 38 FaH! 8§ et el oft
3R 38 I o foran foh a% 3ot Wehm <l 19T Tk Siforeh @ STeiirehl
TShHUT ToRTS TATIUC Tl | I8 3299 U ey fuiia foru ofk 3= &
I T - TSI TS |
3T Th 327 YW I8 | fof-=isTa U1/ 10% A1 AN HE o1 | 98
Tt foqen e fo o vt S wa, wfestat, Tt el 9 wdh i 3UR
T had Afeh O I a1 foram 8 &€ @ilie S | 359 I8 «ft iy
fora fop Tort <l goRMI o W= © 3cUTaT o ToquM o fore |sft sTrarwareh =om
T TeT FeharT SITQT | 369 IcUTeH Jawersh o &9 H Hied sl fph foam forem
Icared fopmadi &t fswifad s o Faffa adent o1 off fote fomm | giea 3
Y R H et T T S ATet HAATET sl T i YafRia o arer foewo
oft IR ToRaT | 3T aTett SATTesht o fofe #e «f Wigd sl &gaR fafee Seamai
% U A& o 9R H off g foRan | S 99 W FE Hd 99 2,
TEAM QT T 1 9 W T 100 Hfafed o A st =ror of i s |
IH FF=oe ¥ UIHAT i 3Gd FAd gC T8H aAUIq fl¥a ASHISAT % TR
1 vga AR qen 3 T |
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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22.

23.

66/1/3 15 [P.T.O.

manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, area wise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was
announced.

Quoting lines from the above para identify and explain the different

types of plans discussed.

e o 48101 Ua f3=isi i & Hed greieY hi GHESU)

Explain the relationship between controlling and planning functions of

management.

AT = T 9T 3 g O THIE UTE i T Siad Tl | Sad |
TS G T8 e oft | 3UHT ITAMT Heh I8 SHR BN TS | IUARRT T
sAfafamm o t=aria 3u< S ®E ° e Jifuent o 1 31 38 Ted e

T |

(37) 3w feufd o 30 Aeoyul 9ge] ol Ugane foeehl fouumeral g/
ST I TE B

(9) IH (1) H I8 TT I8 o il b1 &d H qU AT |

Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

casc.

(b) Explain briefly the functions of the aspect identified in (a) above.



24.

25.

‘g fafiee’ us doersa fmioft et 21 soht 37w Osf T 60 wa ©

fUsel a gEeh! i o791 3T T 0.50 off | fafasfiertor o foe sweot =t T 40

g Afafcs ISt i Trawrenar off | 38k fore srat 3 10% s Frifia

ek Tord TR foran | =Ml ad st o fafa=nfsa st % 8 @ @y

AT foRaT | 389 40% 1 & & T T fohamm |

(31) 3g@ Hitvie Tor Tafaeieror W sTeranfal =i ka1 37 § A1 gaT
SIS BT TS | ST OIS ot T8 9 H I |

(&) o & 35k YSi BTl o W o €9 H HEOHT R 09T oh 1A o et |
fereel e hreht 1 3g@ oft FifSTw |

‘Viyo Ltd.” is a company manufacturing textiles. It has a share capital of

% 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of I 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of I 8 lakhs on

capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

Te o HEw o [ohval dT fog3l ol eS|

Explain any four points of importance of management.
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